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B.A. (Part - IT) (Semester - I1T) (CBCS) Exammatlon, January -2023

HISTORY (Optional)

DSC-D2 : History of India - I (1757-1857) (Paper - IV)

Sub. Code : 73371/77671

Day and Date : Monday, 16 - 01 - 2023 Total Marks : 50
Time : 10.30 a.m. to 12.30 p.m.

Instructions: 1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Select the correct alternative from the following: [10]
1) The British East India Company established on December 31, 1600
in ;
a) France b) England
¢) USA d) Russia
i)  Lord Dalhousie is known as
a)  Creator of Modern India
b)  Grandfather of Modern India
¢)  Founder of Company Empire in India
d) - All of the above
i) Raghobadada made a treaty of with the British for the post
of Peshwa.
a) Vasai b) Surat
¢) Salbai d) Purandar
iv) In 17635, Robert Clive introduced the Dual State Systemin
; . a) Bengal b) Mumbai
¢) Awadh d) Punjab
vl iz annexed Jhansi is accordance with the Doctrine of lapse.
a) Lord Curzon b) Lord Dalhousie
¢) Lord Wellesley d) None of these
vi) In this book, Lokhitavadi has discussed economic exploitation .
a) Lakshmidnyan b) Centipede

¢) Cause of Poverty in India d) None of these
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vil) The British built miles of railways in India till 1905.
a) 288 b) 28,000
¢) 40,000 d) 50,000
viiiy Home charges in 1921-22 of the total revenue during the British
Government of India was increased to  percent.
a) 50 b) 60
c) 70 d) 40
ix) A meeting was organized by Santhala at g
a) Bhaganidhi b) Nagpur .
¢) Assam d) Khandesh
x)  The Queen’s Manifesto was published on November 1, 1858at |
© @) Allababad b) Delh
'c) Kanpur d) Ahmedabad
‘ Q2) Write short notes on any Four out of six: [20]
a)  Third British - Mysore War.
b) Treaty of Vasai.
cj Qualities of Subsidiary Alliance.
d) Concept of Drain of Wealth.
e)  Uprising of Ramoshi.
f)  Rani Lakshmibai of Jhashi.
Q3) Answer the following questions in detail. [10]
a)  Write down information about the Battle of Plassey in 1757.
OR

b)  Write the details of Dual Government. .
Q4) Answer the following questions in detail: [10]
a)  Write down the advantages and disadvantages of the Permanent
Settlement.
OR
b) Describe the effects of the Uprising of 1857.
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